st =& otd U0l AlE MSDS/SDS

N,N"-[Phosphinicobis(oxy-2,1-ethanediyl)]bis[N-ethyl-
1,1,2,2,3,3,4,4,5,5,6,6,7,7,8,8,8-heptadecafluoro-1-
octanesulfonamide]ammonium salt

HE EM:2023-12-23 HE BHS:1

1. atStHI S UF 2l AHOH 2te E 2

2 25 0t R M HAZE,IIFE E=J|EH 8
MESHA &&= N0l ESLITH ot & it

S| AHID

S| A : Chemicalbook

=4 cSI3A AR AXM100F I E2H1ES
bSk=iwl 1 400-158-6606

o

Ch.rold-RISHE 2][INE0 ZS L X E=JIE Roll&-AS L (0. 2= ASH)

Chemical Book


https://www.chemicalbook.com/ProductIndex_KR.aspx

ol
&3
4

aL

n0
OF
il
ok
KO

.:.
(]

ol
I
X0
X0

N,N"-[Phosphinicobis(oxy-2,1-ethanediyl)]bis[N-ethyl-1,1,2,2,3,3,4,4,5,5,6,6,7,7,8,8,8-

=24

heptadecafluoro-1-octanesulfonamide]lammonium salt

—_

80
00

3]

2

(8]

30381-98-7

1of

0
Ok

00

100%

~

10
o
K
N

0l0

o
3

Ul

JH

~

ol
3
i
RI

I+

=

2 2 MEES MAHGHD HLIotAIL

OLIAIR

HAIZ H0ll= 20 AYS 285

| ZH2AIR

=

oJ
&r
ol
of

ol
ol
[z
&)
ol
ol
&0
<

o
R

L]

1Dt A= R2Z FIIANL

_J
Ho
o)
pd
<

ol

ol
53
ar

SHOIXI OHAI2

)
AT

e =Z Of

OJAI0l el= AZOIA

I[3]
KJ
ol
ol
Sl
<

O J1EF 2L ALSl =2 ALEY

-
S

-

1l
10

I_

FXHAL CH X

o3|

L

oll
Hr

Chemical Book



IHE Al 810t
StMHAl t=d, 4 It

2

00

<
il

=
[}

OF
oL

L]
ol

Kl
O

00
<+
il

U

ol
30

ol

Ll
JF

00

<+
ol
ol
o

FAIR

s}

(G PAPNR ]

=

=

o

X et

[0l DS0l JAALE 430 HAS AR JAl Se{LIAIL

X

EES]

I

g
S

2‘
PSSO MO B30AM SIUAIR

8

o
=
§

FRH Al
FRH Al

3

=l

6. == AtIAl T

EE|
EE|
EE|

= MAGHAIR

2|

[0
o]

&0

b

|

O

ol

OlLHAI2
2 E=0t1 BII0l §2AI2

FAI2

o

10l =2
dS ESot)| ol 228t AXAE

SESS BAHL Z200HLIX OHAI2
S Al 2¢H, 810t

EIIE FEXNAZ2RH SIIAL

=
FAIR

ou

o)
[l
RO

il

10
KO0
=
oK
Al
M

0

D
S
KJ
ol

—_

Chemical Book

FAIR

9]

ol =2



FAI2

o

e
=

STE HX6H0

| WAL
el
FAI2

[e]
¢}

Ha = EX
20 =2

i

1l
70
K0
=
o)
Kl
ol

FAI2

[[[¢]
Ml
H

2LHGHA

i)

Jn

FAI2

9]

101l =2l

o
Iy

oJ

oK

10
0l
H

lo
K
=
H
H

&I
fior

4

J
H
H
or

Rl
Ol
or
o

~

=URE

TWA : 2.5mg/m3(Fluorides, as F)
TWA 2.5 mg/m" 3% (Fluorides, as F)

ACGIH # &

KK
=
L
H
&M
iior
]
B

3 mg/g creatinine (Prior to shift, Fluorides in urine), 10 mg/g creatinine (End of shift, Fluorides in urine)

n
Bl
&M
ior
Ho
o)
Rl
Rr

FAIR

¢}

tE S

¢}

0l

=
[

=& =87

n
=)

FALE

¢

=2
S

At

=
=

2 HH DI

o
=

=

]

2:
=

]
H

(0]
ol

FAI2

(Fluorides, as F)

FAIR

[[®]
00
KM

=

o

i
of
160

oJ
0

L

=550t 25 mg/im3ELt &

= A (loose-fitting)

et bl

(N
A

X
=1

un

ELl

ol
ol

o)

pS|
=

-

X
ey

CESEI1625 mgim3E0 HE ER

SES5EIH125 mg/m32 T

FAIR

[[]
00
KM

28

of

LTAA EI|0IATE oA

oted
= =

F&

EE

o

o]
A

ol
Ju

=551 2500 mg/m3=2 T

tH SJ1d 132 HEGHAIL

9]

=2 B38|

9]

2irar S 20 T

Z 20 E201 E018 AXN0 ASHEAIE(ARIA) Z Mt I

I HLE JIE

===} 25000 mg/m3L2 Ct
FAI2
0l A= &

—
[

o)
Rl
Rr

)

Il 25

XA

FAI2

10
00
KM
ol
o

of

ol

Kl
o)
R
Rr

)

Chemical Book



b 2l &
nps|

0o

L &M

00
3

n

Ch. S A XI

ol
&3
N

ct. pH

RO
Ju

70
!
A

90.27 C

RO

580.3 ‘C(at 760 mmHg)
AL OIS &

304.8 C

0o
3

n

dl, J1 A )

X

st (2

(¢]
L}

At

ol
&3
4

i)
<)
ol
<0
ol
oF
10
il
Hr
J
=y
ol

ol

K

[l
&3
n

2.06E-08 mHg (at 25 C)

It. 521

U
no

00

1.213E-10 mg/t (at 25 C)

ol
&3
4

Chemical Book

ot. HI=



0l
53
i

= b Al = (Kow)

/

[)(Log Kow)

X

=
=

9.26 (0l

0l
53
113

.2d2=

o
33
1L

.S -
(===

=

0l
53
i

L

0

I

1221.496

0
0l0

oJ

oK
X0
K0

—_

oJ

X0
Jo

o1
010
Bl

=
o

Ok
oK
X0
RO
ol
Rr
ol

ol

o0
R0

0o

IS A E210t

SHHAl =4, =4 Ot

0o

<+
il
IS
Ok
oL
ol
L]

o]
Kl
O

Ry
KA
o

=
1o

=

or

]

HOF &

o

Ct. 1l

Pyl
il
R
8l

R
]
[[<]
Ok
JIJ
[}
X0

20

=
1o

I

o
33
4

iy
RO
i

&Y

fall

K
A

ol

otsdol =

iz
RO
X0
o
ok
A0

O

Chemical Book



ol
&3
4

=
&0

o
33
4

=3

ol
L]

X0
ar

J
)
X0
<r
Ik
Ik

1=

0o
3

4

0o
3

n

X0

oJ

_H.u.

100
ot

0o
3

n

X0

oJ
=
I+

=

[l
53
n

il
i
il
Kl
oJ

<

00
&3
n

1Al

I+
o
A
00
El

0l
53
i

IARC

0o
&3
4

OSHA

0l
&3
N

ACGIH

A4 (Fluorides, as F)

NTP

ol
&3
4

EU CLP

o
33
4

X0
[

5l
H
<r
20

o
33
4

X0
_.|:_.

<
20

0o
35
4

Rr
=
RO
ur

0o
3

4

Rr
=
R0
ur

0o
3

n

X0
=]

ol
0

[l
&3
4

90
30
X0

=
o

U3

00
&3
n

00

Chemical Book



0
r

0

0o

o
o8

H

H
0
ur
0

o

ol

H

K
i

He

i
<+

€l L(E)C500t

=
=

(=28H= 1mg/L 0120/ 2 0l

0l0

Y
o8

H

H
0
ur
0

o

]

)

K
i
i

([}

<

i

L(E)C502+

1mg/L DI2H0| D o =&

SE(+=3dl=

L2 M
—_— o o

(

S (L2 1mg/L 012H01 D 0 == L(E)C50+

=3
—_ o

(

R
s
IH
Bk
()
Mk
KJ

9.26 log Kow (BIOWIN 1,2,5,6)

X0
R
Ho
Ul

20

o

(L2351 & (BIOWIN 1,2,5,6))

3.162

X0
o

“

o0

2433000 (£ 20

ey

100
30

no

U3

i

Ot. J1E}

=]
(AT

=~

J

13. JEFE L DVE

JHHIDIN

FAI2.

[[[¢]
Al

ol

1) 2

=]
(AT

=7

J

3

o

(UN No.)

ik L ovE

Lt HIDIAl =2l At

14.

8o
Rr
b3
RO
Rr

Chemical Book

S =2
%‘g Sy

Ol A 2 2

=
[=]

Ch. 2



0lo
&3

00

-
([}

D
U

00

0o
(3

00

=
[[s}

(1
il
30
o0

=
o

ol
3%
4

Hi. AFS XL

[

b

20

ST Al HI

00
&8

00

=
[}

=4
Ki

-

20

=<
Ll
Ok

0o
&

00

=
[}

15. & A & &

T+ Al

5t

=}
O
&0
]
KH

K
H

00
38
00

=3
1o

Al

5t

clgol 2

[eN]
Kl
oJ
O
160
oF

-

.I

3

0o
£

00

-
[}

A

HII= 22l Hol 2 st

ct.

00
[

00

=
I[s]

ol 2l &t Xl

1]
fir

2l

oK

O J1EF =LK

SUAA

0o
[E

00

-
([}

JIEL=U A

0lo
&3

00

-
[}

=AM

=22/ Z2(0OSHA 1 &)

]
&3

00

-
o

0l=22| 8 2 (CERCLA )

0o
&3

00

-
o

Ol=2cl & 2(EPCRA302 71 &)

00
3
00

=3
o

0|22/ ® 2 (EPCRA304 7 X)

0o
38
00

=3
1o

0|3 2clE2(EPCRA313 1 &)

00
&8

00

=
[[s]

Chemical Book



0

RO
)
gl
mr

0o
&3

00

=
[}

0o
&3

00

=
[}

R
O
3
R0
ar
o

ul
il
o
R0
n
a0l
i

0lo
&3

00

—_=
[}

=
Tl
Uk
il
R0
o
iyl
R0
Uk
il

0o
&3

00

—_=
([}

i ]
o0
o
iy
RO
Uk
IH

0o
38

00

-
([}

il
Rl
I
R{U
Uk
It

0o
38

00

-
[}

100

16. 21 2l A

EX

DN

[l
5
1L

oll
X0
Kr
K
Ky

2023-12-23

<
[C)
RO

[l
5
n

ASHILT

2023-12-23

ch. JlE

0l
L5
4

MG Xl &4SLICHOI MSDSE
= SDS2| Herdofl tHoll =&
IXI 5L

055
7 76D <0
10 A0 5.
RO
oind
i) H i)
RO
38 00 A
— Hol

=
= MSDS AtE

S0 EE2 GATX
AHZ XHOI A B K|

oF =
o=
= dro
= =

=
=
i

= 0H

el Mo
NS ML NF
S L§210F BHCH2 MSDSS| & A X

B RE
AFE O
ct

ZH
ot
o ot

=
=
|

0l MSDSe| 2= X
M
=0

o

10

Chemical Book



